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EXERCISE- 

(a) 28 birds are sitting on a tree .15 birds fly away. 

Number of birds still sitting on a tree? 

Solution- Number of birds still sitting on a tree= 

28-15= 

 

(b) Aman is 12 years old .His brother is 6 years 

younger than he. 

Aman's Younger brother is ____ years old? 

Solution- Aman’s Younger brother is 12-06 years 

old 

12-06= 

 

   ( C) Rahul bought 50 balloons . Out of these ,35 flew 

away . Number of balloons left_____? 

Solution- Number of balloons left =50-35= 

 



Homework-Solve it by the method of Subtraction. 
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